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Quotients of Functions

(f+8)(x)=71(x)+g(x)
Ex1 Given £ ={(1,5),(2,0),(4,-5),(5,11)}
g={(2-4).(31),(5.0);

(a) determine the domain of £, g, and (f +g)
(b) determine (f+g)
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Note: Since g(x) is in the denominator, and we must avoid
division by zero, the domain has an additional condition:

D, ,=D,nD,g(x)#0
Ex.2 Given f(z) = 224+ —6 -.D& :?‘Xé"@i
g(xr) =+vVx+3 'DB’-‘I’KQR('X}-S}
determine ( f + ¢) () and state the domain.
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sin x
Example:

D={xeR|x¢O}
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Example: D:{xeR|x¢n7Z,n€Z}
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Ex.3 Graph f+g
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Assigned Work:

p.542 #1,2, 3
p.544 #3, 4,6
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